EARAZROREIERT — 2 N—XBISY —F 201955828 (K) 2EIE11H

@ C3—11 C3 ¥5%—#% EEE R
[A&4£] 17 :300,000 ™ ~ 23#&:105,000  ~ 33#&:60,000H ~ 43#%&:45,0008” . 53 :30,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i B4 | MERME 1:24.9 5-5-5-3 |39.6| — 3 446 | EHREZ (BH)
118110 Jg—-07r 54.0 (=) (o) | DR
L:E¥r7AvY B:¥TR AA4A—=rTT =1L
S XTSRS # o4 | AHER 1:25.4 3222 [40.9| — | 4 | 43 |BAEE) (W)
2|8|11| 77 AXXYT 474 b %055.0 21/2) o |EESHE
R:TF2TLH— BY—H— by T W A
N —s ZHEHL 105, -3-1- . — E#EEE (B
s 5> 1vFvan @7 | 288 124 | 2 40 | e
RiAAvavR—5— B:vFILHTx Y74
NS 4 4 | BEHEX 1:25.6 7-6-6-5 |39.9| — 5 512 | B:ak# (B%)
41111 [P PANN ¥¢55.0 (1) 0 1) BES
LN—HNE B4 F<1 bET ¢ NIt e
s = 5 2 78118554 1:25.7 -7-7- . - 2 4 ABIEER (BH)
5 2| vaTA WG Il b -6 56.0 (1/52) 8 6 |%5 (_620) HEEH
R:TvGIRry b B ALCRTIUR FBEZX %Y K
j Bt 4 | AEHEEB 1:26.1 9-9-9-8 |39.1| — | 10 | 428 |#MIIEE BEH)
6l7|9|7NV—R 54.0 @) ) |EHES
LN—E>Tv— BNIILIATHLY KBRS

S t 6 | EIRRFEE] 1:26.3 1-1-3-4 | 41.9| - 8 456 | BILAE (BH)
ZH 7| FR3q1 g 56.0 ) (1) | 8 257"1‘/7_—

LTI RTE— B:T77p—<Ly R =Siikae)
RIRFEAR : -8-8- - HAKE (SH)
N P Ky -1 tA 4 6 Asdé.o 1.(216).5 6-8-8-9 | 40.0 11 51_554) 1)§m$1§
Rix4avR—-5— B:kya-I7L—) Jsw  1ETE
> i S o6 | BIIE 1:26.8 10-10-10-10| 39.1 | — 6 521 | BERE— (B
9155 IR =TZ 56.0 (1 1/2) (47) EHEH
R:hxeF) BE1i-F1NTUX HFREARIS
- s 1ERE Rl : -4-4- = HREZ (&)
10 PRE=E=0 4 5 o 1.(217).0 4-4-4-7 | 421 7 (4+714) T
LTANWNGTTFY— BT 20— 2l I
JJ3 4 5 | LEINF 1:30.2 1-11-11-11 41.2 | — 9 437 | #IIB3E (A
11 3 =~ 54.0 (24 %) (+2) EHEE
L—F—=29 7 B:ixyRILTI B2 %Y K
@ 1 — S —EBlIEf
1d—7— 7,6,11,4,10,8,1,2,9,5,3
23|=7r= 7,11,6,4,10,1,2,8,9,5,3
Jol=5r= 6,11,7,4,10,1,2,8,9,5,3
40—+ — 6,11,10,7,1,2,4,9,8,5,3
[ /N
B OB 10 470M 714K 10-11 470M % E 8-8 1,150M 3EHE 6-10-11 1,720H
8 B 10 130H4 6-10 250M B & 10-11 1,590/ K31 10-11-6 11,550M
1 1809 6-11 420 B H 10-11 2,970M
6 140M

ABICOVWTRDTEEERROODE. TR LIV,



